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1. FALSE
Explanation: “American” is a proper adjective. A compound adjective is a hyphenated word.
2. TRUE
Explanation: Time is directly being compared to a thief, without using the words "like" or "as", therefore it is a
metaphor.
3. FALSE
Explanation: Commas are used to separate items on a list, therefore it is punctuated correctly and the answer is false.
4. TRUE
Explanation: The pronoun, who is used so that we do not have to repeat the word "sister".
5. TRUE
Explanation: Homophones are words that sound the same but have different meanings and spellings.
For example:
pane - a single sheet of glass in a window
pain - an injury or ache
heel - the bottom back part of the foot
heal - becoming healthy again
6. FALSE
Explanation: Panado is the product that is being advertised, as it is the name of the tablets that appear on the box.
7. A
Explanation: The word “first" indicates where Mikhail placed in the race and is thus an adjective of quantity.
8. A
Explanation: The song was chosen CAREFULLY.
The word CAREFULLY shows the manner in which the song was chosen.
9.B
Explanation: When we rewrite a sentence from direct to indirect speech, the verb moves on step into the past tense. “It is ironic”
becomes “it was ironic" in the past tense.
10. B
Explanation: Assonance is the repetition of vowel sounds in consecutive words like “I ate apples in August".
11. C
Explanation: "Mayleen" is the subject of the sentence in the Active Voice, therefore in the Passive Voice "Mayleen" will
be moved to the end of the sentence, preceded by the word "by".
12. C
Explanation: Reflexive pronouns usually end in "-self". It is reflecting back to the noun.
13. D
Explanation: Many lights are shining onto the statue, making it attract the reader's attention.
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14. Indirect Speech 3
Reported Speech

Explanation: This sentence reports on what Brian said, therefore it is reported or indirect speech.

15. ... 3
Three dots

Explanation: An ellipsis only has three dots. It shows that an idea is trailing off.

16. The ball does not want to be played with by the cat. 3
The ball doesn't want to be played with by the cat.

Explanation: In the Passive Voice, you must now swop around the subject ("cat") and the object ("ball"). You must also
change the verb and add in the word "by".

17. we 3

Explanation: The personal pronoun "we" is replacing the names (subject) and making it easier and faster to read the
sentence.

18. My idea of good taste 3

Explanation: "My idea of good taste."

It is easy to remember and easy to understand.

19. Smartwater 3

Explanation: Smartwater is the name of the brand. It appears on the bottle in the picture and on the bottom right of the
frame.

20. hasn't 3

Explanation: The subject, Jade, is singular, therefore the verb must also be singular.

hasn't - singular
haven't - plural

21. television 3

Explanation: The abbreviation TV is a well-known abbreviation used in everyday speech.

22, qirl 3

Explanation: The girl / child is the most likely person to have touched the TV screen with sticky hands.

23. TV repairman 3

Explanation: The girl thinks that there is a technical error with the TV that needs to be fixed by a professional.

24. (1) compound adjective 4 (2 per answer)
(2) adjective of quantity

Explanation: A hyphenated adjective is called a compound adjective.
An adjective that's a number is an adjective of quantity.

25. (1) working 4 (2 per answer)
(2) dog

Explanation: The verb “working" and the noun “dog" are being compared, to show that the man is working hard.

26. (1), 4 (2 per answer)

Explanation: When we are making a list of things, we use commas in between the objects.
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27. (1) Active 2 (2 per answer)

Explanation: This sentence is in the Active Voice because the subject ("Adrian") is doing the action ("drives") to the
object ("Volvo S80").

28. (1) himself 4 (2 per answer)
(2) he

Explanation: He hurt himself when he fell down the hill.

Reflexive pronouns are pronouns that end in "-self" and refers back to a person. A personal pronoun will
depend on whether the subject is male or female.

29. (1) villian 4 (2 per answer)
(2) rejected
Explanation: Antonyms are opposites.

The hero... - The villian...

... accepted the award. - ... rejected the award.

30. (1) romantic 4 (2 per answer)
(2) Valentine's Day

Explanation: This advert advertises a romantic dinner for Valentine's Day, as can be seen by the heart-shaped plate
and the words (copy) under the picture.
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